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BF U ERkiE
8H28H (%) SMA% 1008 6,389YARD PAR 72
1. 559 ho k=557
JIE 152 K4 g3 ouT IN Gross HDCP NET
1 E B & BO TG 43 38 81 17 64
® 8 tHh = E+1AIR 42 38 80 16 64
F B X /O In  BE 45 42 87 23 64
4T o B & F In & 44 40 84 18 66
B oA = B H)-VENERIR 44 45 89 23 66
B B 7 H)-UEN R 41 41 82 16 66
i B I C - 43 44 87 21 66
= B 1E A E2LAR 40 42 82 16 66
XES M OH TG 39 41 80 14 66
B B & B H)-UEN R 39 41 80 14 66
1T | /8 ¥ & 7 Bl & 44 37 81 14 67
B E X H)-UEN R 51 47 98 31 67
Z I IE M LWhd i 39 38 77 10 67
X B Z K TG 47 47 94 27 67
NI E R E21AR 42 41 83 16 67
® B x 7 BB = 44 44 88 21 67
= M F IE 99 36 37 73 6 67
A B O )-VENERR 42 45 87 20 67
H & # BB E1AR 35 39 74 7 67
20T | By JIl 1IE #O Bl & 42 39 81 13 68
b & E A 979 39 38 77 9 68
] OE = K X E 37 36 73 5 68
= OB R & FE ARk 38 39 77 9 68
F b 5 = h)-vElBR R 41 41 82 14 68
RE = F H)-vEN IR 38 42 80 12 68
R H £ Ik TA4) kR 40 48 88 20 68
21T | & & E1AR 43 41 84 15 69
= I B B Wb 43 43 86 17 69
d M # = B)-VENERE 47 48 95 26 69
b H O — Bl & 40 41 81 12 69
3IT | W B BE & E1AIR 41 37 78 8 70
mE x & H & 37 35 72 2 70
E B M t 5=V IR 53 51 104 34 70
¥ B & M Wb s 46 46 92 22 70
B & = A Ay 38 41 79 9 70
5 B — B ch & 43 45 88 18 70
h I8 1F [& C - 40 44 84 14 70
38T | #k B & Bl = 41 39 80 9 71
E & B 2 5)-VENERE 47 47 94 23 71
# H 15 DI 41 40 81 10 71
i B FE E B it 42 42 84 13 71
g5 K B & W FE 36 38 74 3 71
43T | 2 K & B YRV 42 41 83 11 72
E B K B AR Ik 44 45 89 17 72
T 85 — i X 38 41 79 7 72
H ¥ X H W 44 47 91 19 72
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FR27FEE (B170) BT oA — N\ T14x vy TIILIHR EEBHX
BFRERIR

8H28H (%) SMA% 1008 6,389YARD PAR 72
1. 559 ho k=557
JIE 152 K4 g3 ouT IN Gross HDCP NET
v H w H & 39 44 83 11 72
48T | "0 & 1B 1T o579 44 44 88 15 73
k B & = B & 41 41 82 9 73
H = 3 I 41 41 82 9 73
H O X E -Vl ERE 42 46 88 15 73
52T | Bl % 18 X LWhi s 49 42 91 17 74
w ok B X ELtAR 48 43 91 17 74
= BE F # W 43 37 80 6 74
b & B A 979 47 43 90 16 74
w AR X TA) =R 44 40 84 10 74
¥ W E—B ARk 49 46 95 21 74
HEM R = ELXa R 44 42 86 12 74
E O M Ox ELtAR 40 41 81 7 74
hn #/ Bh & B 41 41 82 8 74
E A il ARk 41 44 85 11 74
X F M X X E 44 46 90 16 74
wE F 7 x = 40 45 85 11 74
H H £ A BB & 41 47 88 14 74
= H R R HY 1L 38 44 82 8 74
5 E 5 = W [ 39 49 88 14 74
67T | ith % £ H)-VEN IR 50 44 94 19 75
Bl B F E Ay 42 38 80 5 75
}MOA B — 979 45 42 87 12 75
B i MR i BARSAY 43 43 86 11 75
A B &% 2 H)-vEN IR 45 44 89 14 75
L X E 40 41 81 6 75
i B 8 = H G T H 40 42 82 7 75
74T | 3 @ & R 51 45 96 20 76
r % — % In [ 52 50 102 26 76
W 0o g = Bl % 43 42 85 9 76
R B E X B R 43 45 88 12 76
£ I = B -V ERR 45 48 93 17 76
K H R F E1AIR 41 47 88 12 76
X A X I C - 43 49 92 16 76
£ 7 B 9592 40 49 89 13 76
82T B = B B Bl & 44 41 85 8 77
X T # & B & 43 43 86 9 77
7 W B IF Bl B 44 45 89 12 77
8T | ¥ H B & BARSA2 47 40 87 8 79
X F 0 Bl & 48 46 94 15 79
M OE OB ' E1AIR 52 50 102 23 79
H K FEBAH E2xXAR 47 47 94 15 79
%18 il & BRIk 49 50 99 20 79
0T | W X K &R &6 =R 50 42 92 12 80
& WU R & X 46 44 90 10 80
oM R &K 9790 43 46 89 9 80
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FR27FEE (B170) BT oA — N\ T14x vy TIILIHR EEBHX
BFRERIR

8H28H (&) SMA% 1008 6,389YARD PAR 72
. 95 k=457
JIE 152 K4 g3 ouT IN Gross HDCP NET
93T | # % oA LWhEb 50 45 95 12 83
H K & & H)-UEN R 50 54 104 21 83
95T | #k B &= BB % 54 41 95 11 84
A B ¥ 7 B & 48 48 96 12 84
97 72 R — F T 46 53 99 14 85
98 W IR i BRIk 53 57 110 23 87
- W KX 1 X ETaR K&
~ =2 W Rk B R llE K&
~ g M F — A KI5
~ ErRRK B =E Im P& Ri5
- K B F X ETaR KI5
~ N RO EtXAR Ri5
~ R 3 TG KI5
=5
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